Autumn Test 4

Name: Class ................................. Date:
1| 20X1= 2 =3X8
O
3 | 546 —385= 4 | 34Xx5=
U
5 =63+9 G | 968 X4 =
U
7 | 345+ 586 = 8 | 6007 — 3943 =
O
9| 6+100= 10 %msoo:
U
M| 652+10= 12| 5374 % 7=
U
13| 5322+ 6= 14 | 842,467 — 468,573 =
O
15 11— X 5= 16 —8—2?
O
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Autumn Test 4 (continued)

17 4-6 18 | 6.1 +9.98 =

) )
19| 7 x =109.2 20| -+ =

) )
21 5 22

X |7 4(4]|8

(2 marks) (2 marks)

O )
23| -1 - 24| 80% of 150 =

O O
25| 69+23 - 14= 26 ;_x;_:

O )
27| 0.78 X 1000 = 28| 7536 ~ 4 =

) O
29 | 35%0f120 = 30 3;_+4%:

) )
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Autumn Test 4 (continued)

26|48
31 32
X
(2 marks) (2 marks)
~
Total marks /136
J
How well did you do? N 7 [ 18 [ 23] 28
Colour the numbers of the - 3 14116 17 [20] 23
questions you got correct. X 1 4612115161921 [24]25]29
+ 5 m[13]22]26]30
Fractions 10[15]20(24]28
Decimals 719 [mn]wBf19]25(26
Missing no. 19
BIDMAS 16 | 23
Percentages | 27
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